SplashLearn

Multiple Choice

Select the correct option that should replace the blank.

14-6=8
If 14 is increased by 1 then 6 should be by to have the sameresult.
17-8=9
If 8 isincreased by 2 then 17 should be increased by ___ to have the same result.
o1 02 03
18-5=11
If 18 is decreased by 3 then 5 should be decreased by ___ to have the same result.
o2 03 o8
14 -2=12
If 14 is increased by 1 then 2 should be by 1 to have the same result.

o increased o decreased

12-7=5
If 7 is decreased by 3 then 12 should be by 3 to have the same result.

o increased o decreased




